lLindpp Ne1

A B BTIJITEEXK3WNKIMHOII
1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17
PCTY ®X UYLl Bbbl b 3 OAHA
2 23 24 25 26 27 28 29 30 31 32 33

1) Ix5=7
2) 42:7="7
3) 18:9=7
4) 4x4="7
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[LIncpp Ne2

A B BTI'JITEEX3UMWINKIMHOI
1 2 3 4'5 6/7 8 9 10 11 12 13 14 15 16 17
PCTY ® X LY b bl b 3 A

18 19 20 21 22 232425 26\27 28 29 30 31 32 33
1) 10+2=72

2) 30:2=7 KHur
3) 50-40 =2

4) 24:6=" d

5)13:13 =2



LLindpp Ne3

r TEEX3WMWMNKIMHOI
4 5 6 7 8 9 10 11 12 13 14 15 16 17
Y ® XU YW bbl b 3 10A
21 22 23 24 25 26 27 28 29 30 31 32 33

A b
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1) 12+7=2

2) 21-5=7
3) T+6=7? ConH

4) 4+11=7
5) 3x8=7 U‘e

6) 19-13="2




= K 3 U1 KJOMHO I
8§ 9 10 11 12 13 14 15 16 17
J I b bl b 3 10O A

18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33

lincpp Ne4
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A B BT I E
1 2 3 4 5 6
PCTY ® X

6:7=7+2=7-1=?7+6=7x2=7



LLindgpp Ned
A B BTIJITEEXK3WNKIMHOII
1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17
PCTY ®X UYLl Bbbl b 3 OAHA
18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33

1+1=7+19=7-9=7:4=7+26=7



LLindop NeG
A B BTIJITEEXK3UMWINKIMHOI
1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17
PCTY®X U YIIlBbbl b 30OAHA
18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33

13x2=7-14=7+2x2=7-9:3=7:13=7

LLIko
na



Pacimm UTE CAOBO

EEX3UWWMWKINMHODI
7 8 9 10 11 12 13 14 15 16 17
U Y WWDBDb b I3 A

>X o

18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33

1273 +2,7 | |4.7,48, 8,37, 9,
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14,1+ 0,9 5.120, ng‘l
9...

/ot /o = b




